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1. (6%,10%) Find the radius of convergence and the interval of convergence of (7
(5%,10%) Verg Vi verg Z /n+ 1

n=0
2. (10%,5%) Find the Maclaurin series of f(z) = sinz, and determine its interval of conver-
gence.

3. (10%,5%) Let f(x) = /.
e Find the Taylor polynomial Py(x) of degree 2 at ¢ = 4.

e What is the maximum error incurred if f approximated by P(z) on the interval
3,57

4. (15%) Find the length of one arch of the cycloid
r=a(fd —sinf) y=a(l—cosb).

5. (10%) Consider the cardioid » = 1+cos 6. Find the slope of the tangent line to the cardioid
at the point where 6 = 7/6.

6. (5% x 6) Determine whether the series is convergent or divergent. Indicate the tests that

you use.
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